Todan Pitaer

\ -_-»»\F: qq.DB &*U‘“\OM

! V\ "-\VF = 0.01b 3 F‘\BI\\”""\

("’pv"\: V\ (P)' o0

1B tu
= 221035 (\bpbjﬂ ( mm\,

t:-; Lo Bkl l\am\, ,

LS s Sz hes Bl
| PZ: 1500 P55y

T3=%:35F

0y 2 95a

W Lo et sSurt

Sf- 26y B |1}, vl 12 Gaturabty
Huple

i 5@: Luy Bhu ] NonsQ
L hG=boas Bhullons
s 30321 Bu] s

(\( = \qqp‘ ‘\\_\\
ALy -
I O = \B%3. 1= 533,90

| = %3,’1‘% IEM' “o\nf\
! [l’;l\: h L~L‘}
= \3\733\ —ﬂ%J S)

= v Bl o)

N - e

L\B_; "\\‘} l/\/pal'f\
=z Jupy t4sa
= U663 Bl /Mo, )

\/\L‘l'_ \"Fl—ku‘\/\pj)
. ﬁq' 234+ 050 ) b5 (loa\. 1)

Ejﬁ‘,;{g@ﬂ ;‘, ,
2 813, 5% Bhullk!

7/3“{»: L‘H' h,

=035 -y

— =~ —

(2535 bhullbu]

Vack=13%4,b- 520

BERTE AN TS



e

SESSS S

e e

2
Wty
——

i Ward

95o0X3Is E_ﬂmﬁ.
L B )|

T 435 - 5 Bhllowa

\: SN \‘oMIS]

°
Aiaz ""1"1\"'\

= (S0 v

= beio e BhlS

P32 3

T37. lqﬁ 3(_

Vo= 2350 Whu

\\.?,':_ 1PN I/Q:S]k\()

u'rg” . W\(\\g "\L‘\

[y
= 5431 (133, 1-930.15) ( 29478 sh«)

\A}v\H
Y[}\«" Qia
E_EZ-—D-. ( D_c\ Ll_\‘ba '&*‘u

ERNRCTIEN [R%Ses 129

Z 3, Yu7)

Sz = 25457 W3 llege

Ty= 0%

PL"_ u w i

%\,\.(“FL(’G\HCJ

b= byas Y vcwqf Fo. kb

g;ﬁ_')u‘ = 2> Sh%‘ KS} \CSJ w

hy's ¥12: 4 k§)k5
G =y w P
\\,~. 3720\ kSJ'Kb
Vi= 20015 43 m"’]ki
haz W3 Upia

= 15511 Sug)

&

Cat. TG,
tab\c

\"3‘— 20,5 2 ‘<3]\<5

)

he -y )
)y = g —

2l Su= b8,y
T e U ¢
= ulsu-bio,y >

L ‘”o\'\“/_f_"a__l
e anke O.‘!
\'Sbl\csh‘;
S Bl v |

uT‘uw}i, v:a(\\ ;'L\,\ -

= %95,% [yl oy - bsd,0g

~ e — ——~——

| f:;\qug D% )cLJ}

.\/Jp‘i/\ = V':\..V"n,ia\
= %S%ol,(s,is\)
‘C_‘Iﬂ‘w‘; weu) |

——



N

9 a 2
\f\]/\&’( = VT,n\u-\'- \’J(’,;A

! = Ny, 06- M%Y

| 6)  BHiae e, Con (TinaTau)
= 5559 o Y1y (1p>- 4a)

T
l\:)\iBBE\“S\’)' \,

'Ill,»\i @
PR
TR

1199

i
1= 5 vela
£y 5L U W)Wl NYouks Lutee
eess able

[ M= 0‘33\3\31\/%3)}6,3
ChyEngs Woiin

= 2A5LUY ¥ S, 0L5
D has 25%. U9 W) veqy

P\‘:IBDO WP
{Pcess, +able

\\F:_M‘a,s 3¥3] )k f Z Sab. Wodte
= 149924 Yes )y
\'“\" \"F'\'Xu\r\f'b -

= 19%,33 v (DA 1985,4)

\\L\—, 3 e sling

L/Pp"\ = \/‘ (bep|)

OB (S0 ;g(

= —
= 904y sy,

— -

1T



<

£z 223159 \csjwb, w
Spy= W2o Lk kS)kbak:
S % SF ¥ %y st
= 1%+ 9,9 U 3o0y)
, ERR ST ksl\(ba\(
g Sg= Oy
i \\3=\r\5-.\n3\+(.\n5=b.u<,—\r~gc\-,>ﬁ(
bay-

\
! =395 ¥ (3ov. 3-3%5.0) (3

ez %00% .30 Vesliey

Z

T9LUY ro.v (33 %7, 9)

J; P\’: D)\‘(P(\

ez 39 ) w3 y Sut. Wakr

PrEss. tuyie

i i v

\\fS: 2551.6 \CS}ks

1
!
{
{
¢

§

L }f\\,: oS lsb W?/\cb

O 2,530 Y3 lyeys <

g

= 23330t Q% (LS

Sty Wail o
{etys, Tuple

| 5@: Tlo P S3vesl ey -

LSy %, S2a

Syz

by vesheqs e

b

LS \xs—'\,ﬁg ez byy - oz 13;\( Sy, 0y
; =933 (54-330, 3) ( v 913798
ho=xB4%%.2 % 5] ey

i
i
H
£
H

{
i{
|
i
{
1

PN -0
chdiel L AP

/’ 'l’ 2054 (3¢, “3o5) m
Se - S0

)
Sy Bvan

.51

huth .N)

%%

S,

)

G %

Same H\m\c), AN \\’/ Tewmes.

N

b4y~ b

)

>

T":" Lo r (‘:orkm)( LeTg- 3

1'};4.&3 M |

9in = lhaz ) * Cheo )

N’
= (50»;,;1 =35k (34T y 2 - 274 3)
= 3405 1 v ey
%Jv\‘}' = MV' \"I
- 35’ u;\! - 351.3 q)

—_——— — — ~—

=
Z2 kb sl |

"l,yud
p——
l"A

DD\,E' 2
T BN,

1107

Ay

2100

T3 = %5057

T:, =hyd, ol ,(_

(lif\-. E %‘3,’*’7 7/0



Of [5 %=

b
e - .

T"S C—V°/5 [lea' ﬁeﬂe»»'/z;léfne_.éyc/c

J

Y

5§ T; = ZSZWC
3000kt e g L
=316, | ] /g

S, =6, 7450 kT ks K

(1‘§
{

f el =

6. £ 356 KTkg K b = 28282 Kilky
3 26SRTJk < b, = 2798 KT /ky

She =5




T 60‘ Db

Sg " Sp Xo,gh

= Xg = 0,836

z;

7
Vi et 4 /
t ) ke 1K s




RSN

( h -
'”; 770 kﬁ/c 2*\ ,.,-w"“'“'""_’ \/ark yﬂrngi

lo), )Lvl*émg,

b il 6
f#;\/iﬂj ﬂUﬂ 3\ y( —

= r =0 }“’ ;M«.} e W)
Sy = £KT/ ke

T, = et (-pSh
__,_}_,—/Jl;,_’,y’_’ln__é }P};’ J _7 i kAT
= lgji_ 44, ok S e
| Q—» l‘ % < L ~9 L\zal" <y ).el 71'@4'/%.
"‘ 4
L I:
,__—————/




:r—‘Q Jrqﬁ'f"’“"

b, = hegiow, = 19181 KT kg

Vi = Vegipeps = 0.00101 v [k

\NFT,‘.-\ =5, [‘91 ’Pc ) \
Q— = (0,0&!0(“3/@\ Lé 00 -0 k- ( “‘Pa S )




= 005 100

ke “Lz"‘,)(tl?;l’z)

ZZ/L‘.?—')\Q

= 270 16N




= |—0.5Y480

el

/L L0 e
LT e el S

-
e




